CP100

ImAoC

K, kB

kO

iR

S45C
BEREX
REH=HE

SKH51
BAEK
REA=HE

$45C
IR

(TR Es)

L1
Ls L2
BCR
fin
° 5‘ - B Ij:i =
‘VW
= =
fN
? T
‘ <
T

M 7R EIRET



it} = A Wi | La| Ls | H H1 W L L | di d S Hz | Ha
CP100-08040 | 3 12 | 20 | 14 | 40 |25~32 22 | 755| 62| 85|14 3 14 5
CP100-10050 | 3.7 | 16 | 25 | 18 | 50 |32~4Q 25 | 95 78 |11 |175| 4 18 7
CP100-12060 | 45 | 20 | 30 | 21 | 60 |40~48 32 |113 93 113 |20 5 |21 8
CP100-16080 | 6 25 | 40 | 28 | 80 |50~65 38 (151 | 124 |17 |26 6 | 27 | 10
. = REN | BTEERE| RE . =
g s b MiofHs o | oem) |Gk || RPERS
CP100-08040 |M4X0.7 - 8L|M 8X1.25-20L| 14 9 15 0.23 || HSE-9126-SS
CP100-10050 |M5X0.8 -10L|M10X1.5 -25L| 17.5 15 30 0.41 || HSE-9166-SS
CP100-12060 |M6X1  -12L|M12X1.75-30L| 21 25 65 0.75 || HSE-9200-SS
CP100-16080 |M8X1.25-16L |M16X2 -40L| 28 38 100 1.57 || HSE-9250-SS
ERRBIRERGE
FX=ig)
,,,,,,,,,,,,,,
‘\. ‘
2
|
[
T AR
Je ZiEEL AR/, (BRRELLMERTERMIH.
A7 g
[ [
B REIRET ] |
BEEANAEERITER SANRIZREMALE.
AT Lk R EE AR R B SRR
3) CP100-08040---xfige M 4X0.7 - 6L
NN CP100-10050- - ELA~£484M 6x1  -10L
oAy, L i CP100-12060- - -{k kM f#242M 8X1.25-12L
CP100-16080- - {FLARIERM10X1.5 -16L
kO : HS - hSEHEER
HSE-SS

ROFEHR. FRE, 1HRTRAABEERHET

R, HEROBEREREREN.




